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T, A1 FRUUAER TIETEEAT STEAEAT AEE A FE& wmi gt HRERE T e 7 AL
T FELTH] AEEF ARG AN S 25, SA=AE A D 2Rl e

AT SEF AT

“Hfarr’ A A 7

(1)
(2)
(3)
(4)

e > e i

T, G, SEATEl JTSTEE A TR FasoiE g

R N [ L ) =
g, AU, Tq5 FH] HHAE

=

[Question ID = 1804][Question Description = Q99_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7213]
2. 2 [Option ID = 7214]
3. 3 [Option ID = 7215]
4. 4 [Option ID = 7216]

5)

'

1)
(2)
(3)
(4)

TEn faeel ui=ay amEE. e gEn feean ur W #eA GedE sieedr SeeAl aHiEae eyt g
EESEIUICE

s A, W e, e Al =R SEEeaE i fad w9 S=a FE wed. 9 0HeE wEA
qW HEETE TRV FEd WA AEG AH] APSaE HSgel, IR AW SErE AThET 4ise S TR,
maﬁamm AR E g o whﬂmmwﬁqﬁmmmmm
feTgl. 39 525 =, | MUaEE, w1 95 TEv, im'UT (=T = T AT daHUses HHY 1 HROT e
—znijﬂn%n‘m?ﬂm T T <A e aw, | HH{%WHIT-IF#%dWMWHT Eioc
A WAGHE G, e WA A AeEE e A e s s S i e
famarett, o A fgmT "‘Wmew—aﬁwmwmﬁ?aﬁﬁ
TR A=A g b fagar TeEa e, ' e JE T e wean Heef = g
L, ATEA] FEUIUATE TRl SAEA] SAHG ATEEA] T, | EE, S0 vl T R 9e Al
2 FREAH] AT AR 9 A {Zeal, dareAT A1ehd Sieiaay ZraiEEea ST

SATETE ATEF Q"H”Q"l-\l,

Ti=ag Fefgt Aeae 7 Ted T TS FdiE SeIH e

s ~ * . ) l
HIEME AT BT AIEEEE /1 334976

A= A TR w9

ATET SUEH BT HIEIEEET T
GG HEAEEE & T

[Question ID = 1805][Question Description = Q100_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7217]
2. 2 [Option ID = 7218]
3. 3 [Option ID = 7219]
4. 4 [Option ID = 7220]

Topic:- General Paper_Set1_A



1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1z 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% 3:2
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% b:4
Professional (PR) 18% b: 7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 553
Others (OT) 6% *h

frefafes oo @ fo=m Hifsw 5o o o7 5o =d § oo = fafim &t © e & wrdse =1 afem
(%) faamo aw p-AfEen FEEe FATE SwE e 2| @ & % Fe FEee H e 80 @ng 2
FATfeA=T | 128 70 ATFS] F 9N W U9 F I A0

WG & FEead 1 S99 Haam

TR = & R =T FEEA
wfeerm (%) fere | geg-wfeen wigam (709 )
a1 (7 F) 15% 3:2
ey (ug ) 12% 5:3
frmior o srEam (o) 9% 5:4
THeFe (i #w) 18% 5:7
TaYT (T T) 21% 3:4
Jearea A ufEe (4 19% 5:3
w1 (= ) 6% 3:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

aeft &1 =1 e qwy FEwe Fi afted @ o 27 (Z9Hed & g T a6h)

(1) 6.39 =g (2) 4.69 @@

(3) 5.96 ©ng (4) 7.48 @@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027]
4 [Option ID = 8028]

A W N -

2) (Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1z 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Thermhiit1am MT - By



Service (SE) 15% 32
Sales (SA) 12% ST
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% b:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% B
Others (OT) 6% 3:h

ffafed aifes = faam fifse f5om o 57 5o ad |4 oFm = fafim &t © e 5 s =1 afam
(%) Taemor G geu-ufEen e S SEE T 2| '@l &6 % Fel wEwe i ged 80 @
A= | 72T U 2EEl F YW W UTd F 3 AT

U % e 1 SAFE T

e (%) faer | geg-afzen sgoa (g:9 )
a1 (TH 3) 15% g
HeH (T ) 12% H:g
fomtor a7t srgem (i uw) 9% 5:4
TR (H w) 18% 57
TgEF (UH 1) 21% 3:4
Ieare ¥R ufeEe (d #) 19% 5:3
a7 (= &) 6% 3:5

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?
(1) 330% (2) 318%
(3) 320% (4) 80%
oo e A T A o e e e B ot B e e e e i i s e B B B T B e e O o e M e e

r"qai AT Tid9Td %?

(1)  330% (2) 318%
(3)  320% (4) 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% 42
Sales (SA) 12% ST
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% B:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% B
Nithere (OYTY AL I . R



. — 1 — 1 — ]

FefetE aifer W fa=m fifse e o 57 50 99 % 7w = 5 & § 9ne 5 e w5 e
(%) Taamor qun gea-ufee HEee g g T 2| '@l & % Fe HEed 6 ged 80 @ 2
ATeTeT § T2 U SATRS] % YW T YTT F 397 A

wfeerd (%) faaor | gea-afen o (79 )
Tar (g ) 15% 3:2
Teg (TE ) 12% 5:3
fmtor =i sEm (o) 9% B4
mHere (i 3m) 18% 5:7
TE (T T) 21% 3:4
Feure AR i (d ) 19% 553
3= (a7 ) 6% 8:5

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH U HE UH UG § R 159 FEE i Fe G 0 3 &9 0 FwEe FEe i e S H e
e wfgeE 27

(1) 832% (2) 87%
(3) 89% (4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: P
Service (SE) 15% 3:2
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% b: 7
Management (MA) 21% 3:4
Production and Transport (PT) 19% s
Others (OT) 6% *h

et arfers m famm Hifsw fSed vk 33 5o ad § 1o o f@fes @i | e % weEse # aidea
(%) faamm oo gre-nfeen wdaw sgTE g T 2| At &9 % B Feea | Hew 80 @9
A= | T30 70 SATRST % S9N T U9 F 39 20

A % FEeE F1 &Fan [




e (%) faee | gea-afeean sge@ ((7: 9 )
a1 (TH 3) 15% g
Teg (ug ) 12% 5:3
fomtor a7t srgem (i uw) 9% 5:4
TrFeEe (f 2) 18% 5:7
TgEF (UH 1) 21% 3:4
Ieare ¥R ufeEe (d #) 19% 5:3
a7 (= &) 6% 3:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs  (4) 13.2 lakhs

UH U 3R UH U & °§ wEAG Gieen wEaa it Fe S o1 0 F A9 4 ek ateen wEee i e w5
A PR B 7

(1) 5.1 |E 2y 7.5@@

(3) 5.7 @G (4) 13.2 9mg

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1 [Option ID = 8037]
2 [Option ID = 8038]
3 [Option ID = 8039]
4 [Option ID = 8040]

A w N =

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distrmbution (M: F)
Service (S3E) 15% 32
Sales (S8A) 12% 52 3
Construction and Maintenance (M) 9% H:4
Profezzional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F
Others (OT) 6% 3:5

FfatE e W fa=m fifsw 5o o 57 50 99 1 oW % f5fim g § 9ne F e w5 ot
(%) faemor Qo geg-ufeen wEEe wquE g9 T 2| '@l &6 % Per wEed H @ed 80 @ng
Alfer=hl ® T2 710 377 = YR W UvH = S g1ty

e (%) fameor | gev-afzen sgo (79 )

= (uE ©) 15% 3:2
Teg (TH ) 12% 5:3
4

Fmior 3fft sream (d o) 9% 5
TrFTEe () 18%

o
=]




T4+ (UH T) 21% b I

o
[afe]

IearEA #N A () 19%
= (=7 &) 6% 3.5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 :39 (2)16: 37

(3)16 : 35 (4) 16 : 39

ot vr @7 F FEE B FEEE F G 611§ qR vE A F e @ FeR Y wEad S 5 e #)

AT F B 7
(1) 17:39 (2) 16:37
(3) 16: 35 4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

WA o fHE T § gEd TN HER S gE # Td e @R 6 At el W el 6 7
() == (2) wHEEY T
(3) FHHER (4) @I T

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8045]
2.2

[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

Pt = gt wom amt £ g # e e A fafi vt & e & e B
T B | 3 9 S SHEER SHET i FHATT #| I9H U i G GHaT STl S % A 6l 8 7

(A)  eTeR-aEd (Fme)

(B)  frmsm

(C)  Tmm =i At

) s ey L |



(Ey  A5Far

e fiu o faskedi ® @ wE Sw w0 = A

(1) (&) 3 (B)
(2) (B) #E(C)
(3) (D) #R(E)
(4)  (B) 3 (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List I Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (I) Using Swayam and Moocs

(B) Open and distance learning method (ll) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(IN), (C)-(I1), (D)-(1V)

(2) (A)-(lI, (B)-(1V), (C)-(1), (D)-(IN)

(3) (A)-(1V), (B)-(llD), (C)-(I), (D)-(I)

(4) (A)-(In), (B)-(), (C)-(1V), (D)-(1N)

Tt-1 % wry gi-11 = T Fifae) gei-19 3= wiferm weenet 7 faamn £ fafamn & 0% 2, s ge-
11 9 wies Tt 1 oqmEeiea @ 1 a1 3 78 2]

s T I

forequr 1 Tt TS T T
(A) WA T SAdeATeRE A (I) =599 31 go@ =1 7=
(B) U 31 gt sifermm fafa (II) wfsriaa Aaeamens 9
(C)y forego =it 2ot fafa (I1T) HT3geR ATEIeAF A=t
(D)  fareqor =it #ATerrss fafy (IV) uf=t + ag-wny fomees o

I fau Mo famedi ® ° wd 3 1 =ma fifaw

1) (A1), (B)-D. (C)-(III), (D)-IV)
(2)  (A)-IID, (B)-IV). (C)-(D). (D)-(I1)
3)  (A)-AV). B)-(ID). (O)-1D). D)-I)
4)  (A)»aD. B)-@. (C)-AV). (D)-ID)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]



4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I) and Statement (ll) are correct

(2) Both Statement (I) and Statement (ll) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct

e (I) : IR AT SAfEEar wiE B W % [ S IRt aFar Y S weE
TR i o e 4 fR W 2

F2 (I1) : FEAE =Eed T 3 WaTE SAthacs wien Tt & & =EEn 3 e

AT FH % YAEE W dAn R T 2
IWE FUA AT |, 4= 20 0 e 8 6 wes 39 3 6 =94 S

(1) =9 (1) =i (1D 21 =8 2|
(2) = () 3 1D 3 T E
(3) = (D) =e 2, s e (1) e #

(4)  =a (I) Terd &, W w9 (0D 58 2]

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

I =1 e fau w2 . v wf9F9T (Assertion A) F ®W H fAfEd A LR 5% F10 (Reason R)

i (A) forem & sy st g = & smenfa wEEa gl w5 e T At aiomsy
1 TEAH ST B

FA (R) Rt oarht foveror wErAT w0 st afifaten @ gaw @y w3 e S
=&

IR FYA * AT °, 4= 2 e e | 5 gE 3 #1999 A

(1) (&) 3 (R) 31 7 2 3 (R), (A) 1 = = 2

(2) (&) R (R) 3 5 &, A (R), (A) F w0 = 791 2
(3) (A= 2, #@F (R) w797 2

(4) (A s 2, A (R) 797 2|

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]



2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

foFm R F g § wiaari-ufhes w1 Wenfad fe s 27

(1)  F=mdta =g (2) tfaefas @y
(3)  =AEETH® WY (4) TEFTE TG

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

e ufieer famet aforfa = a1 sifagfe =1 smfe w9 9 ordt 2, wg 1 F=faies 5 9 & fafe

= TIE TN & 7

(A)  Tagones @i

(B)  wErTeR=s g

(C) = &g
(D) =Tty

(E) =g fafa

Fr= fou o fameat & @ @ = = == fifsw

(1)  (A) 271 (B)
(2)  (B) W (C)
(3)  (C) ¥\ (D)
(4) (D) (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List |  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (ll) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry

(D) Data Analysis (V) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1I1), (B)-(1V), (C)-(I1), (D)-(I)



(2) (A)-(1), (B)-(I), (C)-(1N), (D)-(IV)
(3) (A)-(I), (B)-(1n), (C)-(1), (D)-(IV)
(4) (A)-(lln), (B)-(1), (C)-(I), (D)-(IV)

geft-1 % Ay ge-11 =1 ferm =i g=i-1 6 oie = =77 e 2, S5 ge-10§ 375 gR1 W a1

H-1 TET-1I
MY = T H A AHATE THAE
(&) TwE g (I)  STTh31 =1 AR 1 a6 Tad i
(B) wfeewr fmm (II) vF FevR T2 § THEAT H T
(C) wie==a wiew #1 =24 (IIT) <= = &= ¥ 5T 9y 33
(D) @TeT fagem (IV) =0e = =@ =& sii= gey T

= fou o el § W HWE 39 1 =EA #AAU

(1) (A)-(II1). (B)-AV), (C)-(ID). (D)-(I)
(2) (A)-(T). (B)-(II). (C)-(IIT), (D)-(IV)
(3) (A)-(ID), (B)-(IID), (C)-(I). (D)-(IV)
4) (&)-(IIT), (B)-(D), (C)-(IT), (D)-(IV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

= 2 e fau o F

F9 (I) : T TE-TEE T MI-TF § @ T GHA % TEEY SR Al s W HAar T8
44 W y e YO, i n o r%
For (IT) : ity et Afahar F sas Fguer adt sl # foro wfEe 2

SYIRE YA % e |, A 5 T fasedl § © A 3 1 99 it

(1) == (I) #H (1) 3 T 7
(2) =y (D) & (ID) 241 318 3
(3)  FW (D) uA 2, fF F9F (D) 39 2|

(4) = (I) 99 =, witda A (1D 7 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]



4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Hr 7w fou T E ; ww sfiEhue (Assertion A) # &9 ¥ fofigd & ZE =@F FAV (Reason R)
FETY

AR (A) et s wterewr (Hy) =1 FemesofiE afimesn (Ho) = gerar ° giem B s

i
F (R) : g aftwemE (Hy) #i ahomfa 7 aifigfe d@g =v 9 75 & 5 o= 2

IUE YA & A °, = 5 e e § 8 wey 3ugs 3 6 99 i

(1) (A) 3 R) IA =& 3 3R R), (A) Fi = =w= B
(2) (A i ®) 3 wE B, 0 R), (A) F @ = =@ 2
@ (AT, @ R) wE T 2
4) (A wE E 7, = (R) TR

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

A TH 9iTE Tk a g uE femw fefetan © 9 e Tt o s e e
(H 30 77 2 30w
(3) 15 FTFH (4) 15 7%

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

Teher ETETTE 1 udi-Ta=s (ST) "Let truth prevail" 87

(1) 3 =emia (2) 2T3TH SITF SreA
(3 fzfeem (4) I"]

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)



(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct
I =7 e 2o U § ;v wfHFYE (Assertion A) % w9 ¥ fonad & oAl FET 5% FAO (Reason R)
+E]H

R (A) Al TERY (FTe=re) SuaHa Afas Fafweie 5 ow0E war &, g T8 difsa
i 9% | 39 U9 92 W 2

F0 (R) ; SeTz g (wiswe) difsa w dwwf 2 i 2 v 2
I FYT T A A, 4= 70 T e 8 8 wee S S5 R =9 i

(1) (A) 7 R) IF TE E IR R). (A F T ==

(2) (A 3 (R) IF TE E, =06 (R), (A) i T2 = w6 2
(3) (A = 2, i (R) @E 44 2

4)  (A)=E FE 2, wfw (R) WA )

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

SHET #F 39T &7 =g AE U Aqahies 0 T O T aniys e 3 et afed g
(A mE fagm Tt A awa A @ = F )

(B) 3= T Fafbal Fiva F =19 A& 21 % fom)

(C)  arfmEm i foven qonet =1 &1 924 & fen)

(D) 9= 4R sAM % fore T ifsan =0 geas wara wifaa g 21

dr fou o faewt ® @ @eE U I 1 = A

(1) a4 (A) 3717 (B)
(2) = (B) 31 (C)
(3)  Fa= (C) =T (D)
(4) @ (A) #T (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]



15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

H= & 12 o=t 9 9 mmm F gaEmEiE et = = fifm

A) T
(B) syl
(C) TEmE
(D) =M

(E) =19 =14 841

= fau o faweTl § § wE 39 w1 =99 FirAw

(1)  =ee (A), (B) # (C)
(2) %= (B), (C) ¥ (D)
(3) %= (C). (D) # (E)
(4)  =ae (A), (C) # (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family
(1) Rs. 3,000/- (2) Rs. 4,000/-
(3) Rs. 5,000/- (4) Rs. 6,000/-

UF G % SN U URER F SO qiE o UMH 3 #EET #4000 ¥, 366 A 4 HEF] H 4500 T

wh HAfaw 5 wEA § 5000 w9 a1| 7 3@ A4 % I T =4 5000 ¥ of A1 39 ufEw fi oftma

w291 o1 o ?
(1) 3000/~ ¥ (2) 4000/- ¥

(3)  5000/- =5 (4) 6000/ =

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 ® 90 * =19 ® B AT "Eme = AEd 9an -

(1) 765 (2) 98.25

gty el e Fay LY = rpe



L) o Vp Dl

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% = 33 #fe g9 = W 11w gu w fawa gem % e @ Afdq wwa B ufowa e
Q\E{-:

1) 25% (2)  50%
(3)  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

Atz ot awq 1 =T e IR e g A 95% 2t @ A afawaar w2 e

(1) 4.26% (2) 5.26%
(3) 2% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

Az =his =ai TRl a%d +1 25% ufawa =1 514 @ 38 1200/~ #7999 s=a1 2 @1 30% = =" FAE &
foru 38 3@ awg =i TR Sima W ST e et

(1)  1600/- =93 (2) 2000/- =94
(3)  2080/- wwd (4) 1560/- =5

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti  (2) Anumana

(3) Upamana (4) Unuplabdhi

T WAATE ST § a1 AefatEd § 9 wE-a 96 ame 95 i = 9e 91wy oA w
T 27

(1)  w1amaf (2) ¥gAN
(3)  FumH (4) TR

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]



2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

I TR o FFEN AT % Wl H 9 o HE o A

(A)  Toams fawm @ sgmo it GuE )/ oEsaT #1 w9 (3999)
(B) = e (7
(C)  sAfiamon i gt = =0 ® gfe (frm)

(D) atqgmon =1 F9F (wia)

(E) Tafea fam =1 22w 21 (2=2mem)

Hi= fou o fameul # @ wE 3w #1999 HifAu

(1) (D). (E). (A). (C). (B)

(2) (D). (C). (B). (A). (E)

(3) (D), (B). (E). (A). (C)

(4) (D). (E). (A). (B). (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) WWhich of the following schools of Classical Indian Philosophy reduce Sabda pramana
(verbal authority) to inference?
(A) Navava
(B) Vaiéesikas
(8] Buddhists
(D) }'Iimﬁmsﬁ

(E) Carvaka/Lokavata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (B}, (C) and (E) only
(3) (B) and (E) only
(4) (A), (D) and (E) only

T 9P =39S ) R SEEE I52 THT F STHE 5 29d 5T 2 7



A) =m
(B) dsify=
€ g
(D)  HmrE

(E)  =mdEr/«rmmEa

Hr= fou o faekeai © © wE I R =9 i

(1) === (B) #l (0)
(2) =4 (B). (C) #1 (E)
(3) === (B) #R (E)

(4) == (A). (D) 0 (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

= =1 wu fae T
F (I) T RS THATE % AR T 0 e 5 H 4w 2
Foa (1) difsher W1 F% A1 Sardl & 5 =6 fFm uen 8 sam S =i sfew g 18

gardl 2 76 26 F8 IEE @ 2

IITE FYU % AR H, A= 5 T e § | HE 39 =99 i

(1) =99 (D) =17 (1) 341 a9 8
(2) = (1) SR (1) 21 15T Bl
(3)  =ua (1) ucd 2, wifea =9 (1) 3150 2

(4) U (1) w8 &, w7 w2 (10) 59 2|
[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]



25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (V) Becuase there is smoke

g1 % e g=i-11 1 fHem fifm)
i1 T II
(A)  sfipgron 6 weifa % =9 9 gie (I) == g1 2@ & 97 A7 ' 2 S WmE
|
(B) =WOT T FUH (1) WETEl W A 2
(C) fafzm Fem =1 33 3 (I1D) safee = = a7 2|
(D) =uTfam =1 SETe wafaumen # %99 (IV) =it ==t gaf 21

F= fou o fasked @ © @E 3T 0 =99 iAo

(1) (A)-(I). (B)-(I1L). (C)-(IV). (D)-(1I)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(III), (B)-(IV). (C)-(I). (D)-(IT)
(4) (A)-(ID), (B)-(1), (C)-(1LT), (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF W75 & HOEI 3 7l B 0 UH A9 Higel @ eiugd w1 i e 2 e o faga i gua w2 e
1 TUet SU2ia 9isel i 081 AT | D12 A7 T97 5 F4 2

(1) o= (fa) = (2) w1 S
(3)  witas w2 718 s59 (4) U= = S

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

T 71 Foe fau 7w # : vF wfiEeE (Assertion A) % w9 ¥ fafiad 2 a1 950 3wF FEO (Reason R)
wHETH



HFIT (A) Todsh HHE T w2 § U AT HEH AT ® B9 § GE1Ud 261 9msg)|

F1 (R) : T H Fege HiY JN W A H HeE T8 A |

I FUA AR 4, 72 2 famer § | wEt 39 w1 == i

(1)  (A) 37 (R) 3A1 T9 & 31 (R). (A) F1 =& =z 2
(2)  (A) 3 (R) 3 Te 8, @i (R), (A) i odt = 75 2|
(3) (A== 2, «feA (R) 3187 &

(4)  (A) =@ 2, | (R) 979 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

o 92 W TEH B G9AT % w9 Fefeias wRE auas 98 0 S TEee i)

(A) 1500 M Bytes
(B) 5 K Bytes
(C) 1 & Bytes

(D) T Bytes

= fou U kel | @ WE I 1 = it

(1) (D), (A). (©).(B)
(2) (A), (D). (C). (B)
(3) (A), (B). (C). (D)
(4) (D), (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

I % HEY H fAE sgy 3 A S ghl 8, A & HUF 5y R



w9 (T) : ATE-FTE T 7 w29 H FH w2

Fu4 (ID) : ATE-TTE T WIS W Sezd I ST FA AT A W H T2 A 1 a2

IUTE FYA % ST |, J 2 o et § & et 39 @ 91y fifn

(1)

(2)

(3)

4)

w9 (1) #7 (11) 21 =e 2|
FoA (1) 311 (ID) 241 2% 8l
Fy (1) @ 2, =ik w9 (1) /e 2

F97 (1) 93 &, =i % (1D 923 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List Il :

g1 % =y g=-11 # faam Fifsm)
L F-11
(P TR e (it )
(A) OCR (I) Zfd @1 eeafafiga eeaeEsl &1 Thd FH &
fem e e 21
(B) OMR (D) =g-famedta wienst § o7 Tg= = + o
(C) Email (IIT) STHA=HT Feg AR
(D) Instant Messaging (IV) #HFIeTH “—hujl%:ih-fl-ﬁ
= fou o fasedt ® @ | T w0 wEa A
(1) (A)-(ID). (B)-(I). (C)-(IV). (D)-(I1I)
(2) (A)-(T). (B)-(D). (C)-(IID). (D)-(IV)
(3)  (A)(D, (B)-(ID). (C)-(III), (D)-(IV)
(4) (A)-). (B)-I), (C)-(IV). (D)-1I)
Match List T with List IT:
ListI List IT
(Computer Terms) (Purpose)
(A) OCR (! Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-cholce
examinations
(C) Email (TIT) Asvnchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :

(1)
(2)
(3)
(4)

(A)-(IT), (B)-(I), (C)-AV), (D)-(IIT)
(A)-(ID), (B)-(I). (C)-(I1I), (D)-(IV)
(A)-(I), (B)-(II), (C)-(III), (D)-(IV)
(A)-(D). (B)-(II), (C)-(AV), (D)-(I1I)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]



1.1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Frerfafiga 5 ® 991 ©F A S0 GO 9wy 27
(1) Eow SEATFEES (2) freTEE TS
(3) IS SSHATFAES (4) HEm

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

fifefa # & F-m1 w1 |9 g = % w9 A6 27
(1)  =ariE s (2) W s
(3)  wrEE (4) FEfIEd

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

Frefafan ¥ 9 -5 THeH A9ET IO Aed! B AR I ATTHIGE G 7 TE E ¢

(1) 9= (2) waETETHE e
(3)  w=Emm (4) TEA

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

T T =i GEEiE FE A % 52 § NMSHE Fefafad § o fhos gammem 27
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem



[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frafafes & 9 77 ugwst =1 wfage 79 5957 & e it Jearg afEd woasa 2 7

(A) A SEATFEEE
(B) =W 9214 (PMas)
(C)  =T=H

(D) s

(E)  5gHE AFEES

e T2 Tu ol § # HE I 1 =E I

(1) === (B), (C) &R (D)
(2) @A (A). (B) 211 (C)
(3)  Faw (B) @i (D)
(4) === (B) H(C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
I foan & #2¥ d, AEEE T=OR FEEE 5 A SE B uE 9Ease Fqn 9 Fyiia e F oo
fr=fafas 9 @ fFa wdm e /omea = e e

(1) 7 (2) wHEHIE S
(3) wHsamA (4) uamEHi s

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
List1 ; ; ; ;Listll

(A) NAAC ; ; () Delhi

(B) NIEDA ; ; (II) Bengaluru

(C) NDRI ; ; (lll) Lucknow

(D) CDRI ; ; (IV) Karnal

Tet-1 % g g=-11 7 fem Fifsm)

Exig! FII

AN P A P TR T C e o o B



g SR it ) IGE

(B) wHEidT (D) sTEE
(C) W E HAR % IIl) ===
(D) i S A e (IV) =7

e fou o famedi @ @ owd I #1 = Hif

(1) (A)-(ID), (B)-(III). (C)-(I). (D}-(IV)
(2) (A)-(IL), (B)-(I). (C)-(IV). (D)-(III)
(3) (A)-I1D), (B)-(I), (C)-(D). (D)-(IV)
(4) (A)-(IV). (B)-(IIL), (C)-(IL). (D)-(I)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?
(A) Articulate new directions for research and innovation in technology.
(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.
(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).
(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :
(1) (A), (D), (E) only
(2) (A), (B), (E) only
(3) (B), (D), (E) only
(4) (A), (C), (D) only
% forem ifg (uq € d1)-2020 9 w3 € & us Fi T FE w wEE 2| 9w e F fatea wee w27

(A)  OrEifTE d sEaE SR FamEn g AU Fe d9n e

(B)  wiftpms =i mHg= &g WrenfeRl = o= % g€y | e % gea AEE-UEE 59 U 09 AT FOET)

(C) =i i T w1 weEn o3 °§ gEEa wg snardt fames =t mthe wem)

(D) T qf=El, F o e 9fEds # &m © ATes e = omw = ey et

(E)  fore tenfiei ® siifg® 27T S=amrd smaral =0 (am e

Hi= fou U faekel # 9 OE 39 1 99 it

(1) === (A). (D). (E)
(2)  Fa= (A). (B). (E)
(3) %= (B). (D). (B)

(4)  Fa= (A), (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM



(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (©), (D), (E) only

ffetaa © 3 -1 3-iam 0e 27
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(B) W&

(C)  ==FwHn

D)  diew

(Ey ==

I f2u mu faed § O 981 3 W =9 Fie

(1) === (A), (B). (E)
(2)  Ha (A). (C). (D)
(3) === (B), (C). (D)
(4)  F=F9(C). (D). (E)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

TIT TP T TEE 29 gA1 AW 2015 ® #ad fawwm w@em-4 ®@ metad Fefatae 4 @ se- @5 s

T At
(1) 379 T 3R agee (2) ToTEETTR fore
(3) T I (4) TN FEERE UH AFEEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Topic:- General Paper_Set1_C

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the

tragic mileztone of one million deaths, and the human family iz suffering under an almost
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unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHOQO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US $110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS T AEEHYEE U 9T $HF @75 4T T W9 H I 2|

FHAFT TEE FG5-19 FEMR 7R 759 1 AYTYE I7a% TR g9e 3R f3m faveag & @ 6 o
g A 2| et = % sifam 241 | uften § sEe 2EWg % W1y 9% 9EE S i BgH T
TR B B 99 21 3T OF g@E ®9 H 10 @ o SO S T 99 7 AR gl aead i a #
ST SHEAE diF 33E1 U5 W 2| Weg 9% UEMEl WRed GhZ ° ®el SAUE 8, q§ Uh AYAq
aETEE-AE w9z S 3| ZW W U oA SHE Wi | sE% SHErmnl AEmss Andsw S
T TUTE USH A & TR o aee qw e T AT B | g ag S weitas st i
(feradt) & 9 wa 2 ff v Tl g0 T W TR R, WY W 7% fOve TR e % 5eAn ¥ 96 |
= "udt gea w1 A 2@ w1 2 9w 9% dfvew amdm et TEea F e W ot 3w e
T-TAE % ged § o R T 2w S e S ol amm e w 2| 3= T8 e o afdfesfe
w8 TS B e W AR BN g U9 R s i Ng-ae el 9% B dasE oW 5 W
w99 & T 400 fafema (40 *rs) @ 6 Tt 1 awdt 31 fFea o5 9 @ a2 e
w-tm (3fem) 4 110 fafems smieh sen 6 =i snoft) see sifae 2 % 500 fafe= (0 =40s)
ST AT g S # 9 FRA § A T8 A A

major crisis faced by the world since World War Il is in which area?

(1) Industrial (2) Technological
(3) Communication (4) Health

fadia favagg & w1z fava =1 o=0 991 9% 8 &3 1 53 27

(1)
(3)

. 2 Y ﬁ\ (2) o Y fﬁ
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[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]
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3
4
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Option ID = 8205]
Option ID = 8206]
Option ID = 8207]
Option ID = 8208]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family 1= suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socio economic recovery,

alongside the health response lead by WHO, and the Global Humanitarian Response Plan.



and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and 1ncome, with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS I AEEHYEE U 9T $HF @15 4T T W9 H I 2|

FHAFT TEE FG5-19 FEMRT TR 759 F AYTIS I79F T2 Fhe 3R fgm favedg & o i aow
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aETEE-ATE w9z H 3| 29 W U oA SHE Wi | SE% SRRl AEmss Ands i
T TUTE USH A § TR o wee qs e T A B | g ag s weEitas st
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oA % Agcd 3 e e T 2w S A S ol arm e w 3| 3= 98 e o afiesfe
w9 GEFg B T W A g gl wgl % wiee i wHg-dz Wl 98 B SAaUSE 9 E@eT w6
e & TR 400 fafemm (40 #is) =i i Stwfei s wdl 2| faga s 3 wgEm @ @t oo
w-Tm (ifeE) 4 110 fafem smfeh ser 6 =i soft) soem sifiom 2 7% 500 fafesm (80 =#0s)
ST AT g S # 9 FRE § A T8 A A

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

wemHl = Frefefiad @ o fha &9 g =99 e 27

(1) @t (2) i
(3)  =mm &R v (4) FEAR

[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]
1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]
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3) Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic Tecovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The

International Labour Organisation estimates that 400 million jobs would be lost. The World



bank projects a Us 2110 billion dechine 1in remitttances this vear, which could mean s0U

million people will not be able to meet their basic needs.
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Which continent is least affected by COVID-19?
(1) Asia  (2) North America
(3) Australia (4) Antarctica

FH-T1 T2TET FF5- 19 T TeH F7 UG 5241 27
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[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]
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1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. 1t has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socle economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

T ] WEEHEE U 1 T @15 HE T W H I 2)



FAMAT AFEH IS5 19 HaMR 8HE G0 F a9 d7-% H=EE O6 AR 1gaE Headg & 95 6l J95
oSl T 2| e = % sifaw 241 | ufern °§ suE 3299 % WY FF G SR T BigE el
TR W A I 2| 379 OF @E 9 F 10 9 | A FH & g% 2 @R 5 AeEar # R w
T SEEAE AW S8 U5 1@ 2| Wed 9% SNl e 6% 4 Fal SAa® 8, I8 U SAayd
amTsE-aAlE wwz ff 2| 29 W uew =t TEE UwWied 2| s faemenl weee s iR
(fearit) @ 7 w= & ft o T 9 T W w7, W @ T f9vd R e & 5ed E A9w
e gedl gegl w f 2@ w2 a9 °F dfvas amdE aEtE FEeE o wE w0 o g w s
AH-AE % Sed § e o T 2| w5 S Ae St o A e B 3= T A R afesta
9 @A B0 e W R B g el R B i WHg-az el 98 8| AadE AW EEA w
o & TR 400 fafemm (40 Fs) & o SR ST o 2| v dF 3 wgeE ae ® o A
g (Ifgdm) § 110 fafema smich gen £ =t st o sl 2 7 s00 fafeem (s0 =rg)
S AT S et g A § gued a8 A e

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC

1 # © fm mean 9 UN 1 amifae anfds afomta (feil) 201 =t 9903 7er 0 27

1)
(3)

UNDP (2) UNICEF
UN-GHEP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]
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1 [Option ID = 8217]
2 [Option ID = 8218]
3 [Option ID = 8219]
4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socio economic Tecovery.,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 800

million people will not be able to meet their basic needs.
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

Fifas-19 & AeF ¥ Fefafea § 9 39 @1/ fosm & 92 &4 fit qe8 79 g9 et ?

(1)  wHeq 3am (2) =T ui=El weg
(3) il gfaeE (4) HaforE s

[Question ID = 2056][Question Description = Q50_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]






